Outline of  presentation from 1/18/07

 from Peter Bohmer

  Key concepts 

1. Theory of Free trade—Theory of Comparative Advantage, David Ricardo—his example British cloth and Portuguese wine.  British gain by selling cloth and importing wine even if they can produce wine more cheaply because with cloth they can end with more wine and cloth.    There should be no restrictions on international trade.    Countries production should be what they produce most efficiently, trade for other goods, Goods will be as cheap as possible. Resources let us say from textiles go into airplanes, computer software. This will maximize output.  

Even if country is more efficient in all goods, produce what they are relatively most efficient in, buy other goods, Samuelson, example—he should do economic and secretary should type even if he is a better typist than her. (very static analysis)  

So if Mexico can buy corn more cheaply from U.S., Mexican should buy corn and use resources for tourism, factories, tomato production for export  .

Any tariffs restrict trade, encourages inefficient production at home, lower quality goods. To protect job, may cost many times that. 

Technical term—Terms of trade = Price of exports/price of imports. The distribution of the benefits of trade depend on the terms of trade.  

Criticisms?

 1. Full employment argument—major—assumption is that resources that are no longer used in industry that imports goods finds employment where they are more productive—may remain unemployed. 

2. Infant industry argument—See 8.1 of Real World Macro. If the secretary in Samuel’s argument has a chance to be an economist, she may end up much better than he. Comparative advantage is a static argument—doesn’t deal with learning by doing.  . 

3. Goods get sold at lowest private cost, not necessarily lowest social cost—If U.S. corn is subsidized, may not be more efficient than Mexican corn. If accounted for maybe,  Mexico should export corn—Also--energy costs--externalities 

4. Instability of relying  on a few crops, products—price drops, failed production—risk increases. 

5. Cultural, irreversible—lose skills. 

6. Winners can compensate losers—They usually  don’t—workers in U.S. lose Trade—who gains, terms of trade, e.g. electronic goods (Japan) for wheat. (U.S.)  If relative price of wheat to electronic goods is high, gains go to U.S. If price of electronic goods is high, Japan gains. The idea is production goes up, wage may fall but there is more so they can be compensated, Pareto optimality-doesn’t happen. 

7. Free trade increases power of MNC’s—more mobility to purchase goods, move production, which increases their power. 

8. Historical—not followed by countries that have raised standard of living. They  protected their key industries until they could compete—Germany, U.S., Japan, South Korea, etc.  

Solution- managed trade, fair trade, some value in producing for local markets  

II. Balance of Payments If it is negative, a country pays with reserve currencies (U.S. dollar, Yen, Euro, pound), not its own which lowers its reserves. If reserves run out, it has to borrow, or get foreign investment.  To get loans, it goes to the IMF—without IMF approval it cannot get private loans.  This also induces “the race to the bottom” as countries try to make themselves the most attractive to foreign investors.  

Different balance of payments terms 

A. Trade of Goods and Services (accounting, adverting,  insurance, tourism, study)  Sometimes called balance of trade  

B. Balance of Current Account    Includes profits, dividends, interest—also short term flows,    remittances, foreign aid  

Often called balance of payments (B of P) For U.S., A is about $700 Billion a year, 6% of GDP. Balance on Current Account is even more negative—another $70 B, or $770 Billion annually  

C. Balance of Capital Account    

1. Long term bonds, foreign direct investment, loans of over a year.     

2. Govt reserves

 C2. is seen as adjustment for B plus C1—if there is a govt deficit, this reduces reserves.  

U.S. Bo P deficit puts downward pressure on dollar. Deficit means more U.S. importers want to sell dollars and  buy yen; also Japanese exporters—puts downward pressure on dollar, e.g. from 120 yen to the dollar to 100.  

Interest rates may go up to prevent capital outflow. . Could lead to real fall in output—less housing, investment and  lead to a depression   

III. Value of currency—Different systems –non U.S. 

1. Fixed-fear one couldn’t deal with negative B of P, big changes—devaluation results-little autonomy to set independent fiscal and monetary policy 

2. Set in relation to dollar or actually use dollar-- couldn’t be supported if there is balance of payments problems, e.g., Argentina in 2001 after Brazil devalued. 

3. Floating between limits that are set—see A and B above 

4. Freely floating exchange rates—possibility of speculation against currency 

5. Currency boards sets rate—what are their interests.  

Solution—managed rates, neither too high or too low. Limit luxury imports. 
